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FACTORISATION. - https://www.toupty.com

Classe de 3°

Exercice 1

Factoriser chacune des expressions littérales suivantes :

A=6422-16
B=0(Bx+8)x(10x+7)+(10x+7)x (=7Tx +5)
C=642%2—-1122+49

Exercice 2

Factoriser chacune des expressions littérales suivantes :

A=2522—-70x+49
B= 642>+ (—3x —3)°
C=0Bz—-T)x2x+6)+(Bx—T7) x(6x—23)

Exercice 3

Factoriser chacune des expressions littérales suivantes :

A=—(5zx+1)2+16
B=Bx+8) x(9x—9)+ (—10x +6) x (3 +8)
C=42>+122+9

Exercice 4

Factoriser chacune des expressions littérales suivantes :

A= 8z —1)%—2522
B =362 — 81
C=(-10z+1)xbz+2)—(Tz+8)x(—10x + 1)

Exercice 5

Factoriser chacune des expressions littérales suivantes :

A=100— (-2 +8)?
B=2522—-20x+4
C = —10022% + 36

Exercice 6

Factoriser chacune des expressions littérales suivantes :

A=(—z+4) x9z+9) 4+ (—x+4) x (-3x+2)
B=(3z—1)%—4a?
C=-922+49

Année 2023/2024

D=—(z+4)?+16
E=(zx+6)x(10z—6)+10z —6
F=—(=3z+9)x 3xz+10)+ (=3z+9)°

42% -4
Adz+T)x(z—2)+2—2
(62 —3)%— (=92 +8) x (62 —3)

D
E
F

D = —100z% + 36
E=052z-3)x9z-5)+9x2—5
F=—(z42)x (Tex+7)+ (x+2)

D=362>+12x+1
E=52+7+(x—6)x(bz+7)
F=(-10z—4) x (Tz+1)+ (—10z — 4)°

D= (-5z+2)x(—z—10)+(6x + 2) x (—x — 10)
E=(6xz—-5)x(6x—7)+ (6x—5)°
F=—Bz+1)xbz+8 +3z+1

D =1002% + 40z + 4
E=—(-8z—10)° + (=7Tx +10) x (-8 — 10)
F=4z+14+(Tx+4) x (4 +1)
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